Multiplication et Division par 10* (I)

94 x 102

22 + 102

79 x 10?2

97 =~ 102

67 x 102

34 + 10?

80 x 1072

98 + 102

82 =+ 102

78 = 102

Trouvez chaque produit ou quotient.

86 + 10% =

52 X 10% =

37 =+ 107

84 + 107

11 x 102

94 + 10% =

67 x 102

14 x 102

1+10%=

64 + 10% =
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Multiplication et Division par 102 (I) Solutions

Trouvez chaque produit ou quotient.

94 x 10% =9 400 86 + 10% = 0,86
22 +10%=0,22 52 % 10> =15 200
79 x 10*=7900 37 +10%=0,37
97 + 10%= 0,97 84 + 10% = 0,84
67 X 102 =6 700 11 x 10*=1100
34 +10°=0,34 94 + 10° = 0,94
80 x 10°=8000 67 X 10 =6 700
98 + 10%* = 0,98 14 x 10> =1 400
82 +10%=0,82 1+10%=0,01
78 +10°=0,78 64 + 10% = 0,64
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